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Basic Statistics : SE—IOI@
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PR Se—— 3 Give answer {any four) : i ‘ 14
G | wilaldl v | uwine: (1) Write the formula of Karl Person for
15-19 25,000 25 calculating correlatmn co-efficient. If puting
20-24 24,000 104 y=3x examine that the correlation co-
25-29 22,000
0| 1o efficient between x and y=3x is L
30-34 | 20,000 110 . : . .
' (2) Explain the meaning of business forecasting.
35-39 18,000 80 . . s
40-44 5 (3) State the defects of vital statistics. . —
B 15,000 30 (4) Give the different between matrix and ,
4549 12,000 4 determinant.
= = (5) Explain the infant mortaity rate. _
‘ Z E: 6) What is probable error ? How will you '
U (w) AR wsid e, ¢ < < © P
£ z interprete in value.
= =
1 2 1 < < .
() A A=/0 1 -1| Ul 43 342 A+07=0 ¢ ;5: q%’ 2 (a) Explain the importance in business forecasting. &
3 -1 1 . £ 5 (o) Taking initial forecast 100 and ¢ =04 obtain 3
Alid 5. % % the forecast for the following deta- using
] . o o exponential smoothing method.
oo C T ¢ ¢
(%) etrd ARG Meedll wlsael G : p -1 Year [20017 2002 | 2003 | 2004 | 2005
1 - [Selling [ 105 [ 110 [ 115|120 [ 125 | -
4x=3z=2 . 1 : - -
-x+5z=1 ' . o
2x+3y=-1 3 (a) What is corrglatxon ? Explam the types of ,‘6
: correlation. o
735 (b) Find the correlation ﬁrom the following data : 8
@ < 15 4] - € X1 48] 49 |50] 5115253 ] 545556}
‘ ) Y:198|100|88 | 102 {95 11251201110 }125
B=34 2\ C=B+24-5/ & d ARs D AqQ) _'
Aqdl 3 ¥ D=24+B-C UMW, OR’
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8 (a) Discuss the method of Spearman‘s rank 4
correlation.
(b) Find the value of » from the following data :10
X |5-15 15-25 28-35 35-45
Y
v
0-10 2 6 - 3
N 10-20 8 4 -
20-30| - - - -
30~40 - - 3 -
40-50 -~ - 2 -
4 (a) Explain the meaning and utility of vital 6
stastics.
(b) Find CDR and SDR of town A and B and 8
compare them.
Age Twon- A Twon—B
Population | No.of Death | Population | No.of Death
> Belows | 3000 192 5000 300
5-10 10,000 70 12,000 78
10-20 10,000 40 10, 000 38
20-60 | 32,500 260 25,000 190 |
Above 60 8500 510 8000 460 E
OR
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Discuss the method.e of collection of vital
statistics. State the defect of vital statistics
and suggeet your abops
From the following data calcu]ate GFR and
TFR. Total populatlon of the city is 4 Lakhs.
Find the crude birth rate.
L Age ‘ No.of Female | Fertility Rate

15-19 25,000 25

i 20— 24: 24,000 104
j 25-291 22,000 150
\ 30-34 | 20,000 110
135-39 | 18,000 80
| 40— 44 | 15,000 30
145-49 | 12,000 4
Explain the types of matrix.

P 2 1
if 4= L prove that
3 -1 1
3A4°-A+91=0
OR
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5 (a) Solve the following equations using the
method of matrix inversion :

4x=3z=2
—x+5z=1
2x43y=-1
7 3 -5
b If A=|0 4 2| and
1 5 4 '

B=34, C= 3+.'2A_51 and the matrix D such that

D=2A+B"‘C-
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